
MATHS

BOOKS - NCERT EXEMPLAR

ALGEBRAIC EXPRESSIONS, IDENTITIES AND

FACTORISATION

Solved Examples

1. Which is the like term as  ?

A. 

B. 

C. 

D. 

24a2bc

13 × 8a × 2b × c × a

8 × 3 × a × b × c

3 × 8 × a × b × c × c

8 × 8 × a × b × c

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_E9SoF2dCTPtS


Answer: A

Watch Video Solution

2. Which of the following is an identitiy ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(p + q)2 = p2 + q2

p2 − q2 = (p − q)2

p2 − q2 = p2 + 2pq = q2

(p + q)2 = p2 + 2pq + q2

3. The treducible factorisation of  is3a3 + 6a

https://dl.doubtnut.com/l/_E9SoF2dCTPtS
https://dl.doubtnut.com/l/_dMXK2nvrVMJj
https://dl.doubtnut.com/l/_qIIB2qBv9M0h


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3a(a2 + 2)

3(a2 + 2)

a(3a2 + 6)

3 × a × a × a + 2 × 3 × a

4.  is

A. commutative property

B. distributive property

C. associative property

D. closure property

Answer: B

a(b + c) = ab + ac

https://dl.doubtnut.com/l/_qIIB2qBv9M0h
https://dl.doubtnut.com/l/_nDJAeAqibC8k


Watch Video Solution

5. The representation of an expression as the product of its factors is

called __________.

Watch Video Solution

6. (x + a) (x + b) =  + (a + b)x + ________.

A. 

B. 

C. ab

D. 

Answer: C

Watch Video Solution

x2

ab2

a2b

a2b2

https://dl.doubtnut.com/l/_nDJAeAqibC8k
https://dl.doubtnut.com/l/_U03qkSePz2n6
https://dl.doubtnut.com/l/_FDFkHA5AUamO


7. IDENTITY An identity is an which is true for all values of the

variables).

Watch Video Solution

8. state true or false Common factor of  and –  is xy.

Watch Video Solution

x2y xy2

9. state true or false

Watch Video Solution

(3x + 3x2) ÷ 3x = 3x2

10. Simplify 

(i)  


(ii)

−pqr(p2 + q2 + r2)

(pz + qy)(ax − by)

https://dl.doubtnut.com/l/_I92fBZeyKIuZ
https://dl.doubtnut.com/l/_Zc9HBU9s2mnL
https://dl.doubtnut.com/l/_0Bh6gPAdjTh0
https://dl.doubtnut.com/l/_EWaFXbanQ9kz


Watch Video Solution

11. Find the expansion of the using suitable identity. 

Watch Video Solution

(3x + 7y)(3x − 7y)

12. Find the expansion of the using suitable identity. 

Watch Video Solution

( + )( + )
4x

5

y

4

4x

5

3y

4

13. Fractorise the following 

Watch Video Solution

21x3y3 + 27x3y3

https://dl.doubtnut.com/l/_EWaFXbanQ9kz
https://dl.doubtnut.com/l/_HwAsEibEvBPx
https://dl.doubtnut.com/l/_jbUuCV4Ea9wH
https://dl.doubtnut.com/l/_p2lOQ1k7zQWW
https://dl.doubtnut.com/l/_JFUOhMZNUNos


14. Fractorise the 

Watch Video Solution

a3 − 4a2 + 12 − 3a

15. Fractorise the 

Watch Video Solution

4x2 − 20x + 25

16. Fractorise the 

Watch Video Solution

− 9
y2

9

https://dl.doubtnut.com/l/_JFUOhMZNUNos
https://dl.doubtnut.com/l/_mIrEzaTzjvQA
https://dl.doubtnut.com/l/_HMvpIdt15BOH


17. Evaluate using suitable identitiie. 

Watch Video Solution

(48)2

18. Evaluate using suitable identitiie. 

Watch Video Solution

1812 − 192

19. Evaluate using suitable identitiie. 

Watch Video Solution

497 × 505

https://dl.doubtnut.com/l/_xe7MHdgNLKWR
https://dl.doubtnut.com/l/_eqZiJFTw96xU
https://dl.doubtnut.com/l/_jEDKzd6HITGU


20. Evaluate using suitable identitiie. 

Watch Video Solution

2.07 × 1.93

21. Verify that 

Watch Video Solution

(3x + 5y)2 − 30xy = 9x2 + 25y2

22. Verify that 

Watch Video Solution

(11pq + 4q)2 − (11pq − 4q)2 = 17pq2

23. The area of a reactangle is  and its length is (

). Find the breadth of the reactangle.

x2 + 12xy + 27y2

x + 9y

https://dl.doubtnut.com/l/_0PBBv6AKbwfy
https://dl.doubtnut.com/l/_iscHvxPEqDW3
https://dl.doubtnut.com/l/_xGYkkPFvWW2h
https://dl.doubtnut.com/l/_Cir2qYEzl8bV


Watch Video Solution

24. Divide  s

Watch Video Solution

15(y + 3)(y2 − 16)by6(y2 − y − 12).

25. By using sultable identity, evaluate  If 

Watch Video Solution

x2 + .
1

x2
x + = 5.

1

x

26. Find the value of  using suttable identity.

Watch Video Solution

.
382 − 222

16

27. Find the value of x, if 

10000x = (9982)
2
− (18)

2

https://dl.doubtnut.com/l/_Cir2qYEzl8bV
https://dl.doubtnut.com/l/_xiPXq4cgwZYq
https://dl.doubtnut.com/l/_fDprvr0QGmQF
https://dl.doubtnut.com/l/_X2zpqh49zBOs
https://dl.doubtnut.com/l/_hUnkGNDoPchz


Think And Discuss

Exercise

Watch Video Solution

1. Can you find the reciprocal of 

Watch Video Solution

× ?
2

11

5

55

2. Compare the ratios: 

Watch Video Solution

5: 12 and 3: 8

1. The product of a monomial and a binomial is a

https://dl.doubtnut.com/l/_hUnkGNDoPchz
https://dl.doubtnut.com/l/_0JASgZPFQniz
https://dl.doubtnut.com/l/_oTcHVsQSsWBP
https://dl.doubtnut.com/l/_sv59FvCRSj49


A. monomial

B. binomial

C. trinomial

D. none of these

Answer: B

Watch Video Solution

2. In a polynomial, the exponents of the variables are always

A. integers

B. positive integers

C. non-negative integers

D. non-positive integers

Answer: C

https://dl.doubtnut.com/l/_sv59FvCRSj49
https://dl.doubtnut.com/l/_7ttUr6UIng92


Watch Video Solution

3. Which of the following is correct ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(a − b)2 = a2 + 2ab − b2

(a − b)2 = a2 − 2ab + b2

(a − b)2 = a2 − b2

(a + b)2 = a2 + 2ab − b2

4. The sum of  and 2pq is

A. 

B. 

−7pq

−9pq

9pq

https://dl.doubtnut.com/l/_7ttUr6UIng92
https://dl.doubtnut.com/l/_bS5itQcGqsyM
https://dl.doubtnut.com/l/_BX88mpHAhsfF


C. 

D. 

Answer: D

Watch Video Solution

5pq

−5pq

5. If we subtract  from  then we get

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−3x2y2 x2y2.

−4x2y2

−2x2y2

2x2y2

4x2y2

https://dl.doubtnut.com/l/_BX88mpHAhsfF
https://dl.doubtnut.com/l/_NZj3Os9ClKs8
https://dl.doubtnut.com/l/_glSkKJC9RAm0


6. Let term as  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4m3n2

4m2n2

−6m3n2

6 ±3 n2

4m3n

7. Which of the following is a binomial ?

A. 

B. 

C. 

D. 

7 × a + a

6a2 + 7b + 2c

4a × 3b × 2c

6(a2 + b)

https://dl.doubtnut.com/l/_glSkKJC9RAm0
https://dl.doubtnut.com/l/_XFpOoOELuu5D


Answer: D

Watch Video Solution

8. Sum of a – b + ab, b + c – bc and c – a – ac is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2c + ab– ac– bc

2c– ab– ac– bc

2c + ab + ac + bc

2c– ab + ac + bc

9. Product of the following monomials  is4p, 7q3, − 7pq

https://dl.doubtnut.com/l/_XFpOoOELuu5D
https://dl.doubtnut.com/l/_627CAl28RWQx
https://dl.doubtnut.com/l/_kauTG9yuWURG


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

196p2q4

196pq4

−196p2q4

196p2q3

10. Area of a rectangle with length 4ab and breadth  is

A. 

B. 

C. 

D. 

Answer:

6b2

24a2b2

24ab3

24ab2

24ab

https://dl.doubtnut.com/l/_kauTG9yuWURG
https://dl.doubtnut.com/l/_w2YvbnGgI1Ka


Watch Video Solution

11. Volume of a rectangular box (cuboid) with length = 2ab, breadth =

3ac and height = 2ac is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

12a3bc2

12a2bc

12a2bc

2ab + 3ac + 2ac

12. Product of ab is

A. 

6a2– 7b + 5ab and 2

12a2b − 14ab2 + 10ab

https://dl.doubtnut.com/l/_w2YvbnGgI1Ka
https://dl.doubtnut.com/l/_kzxzdE1oKJwu
https://dl.doubtnut.com/l/_05B84wVV994J


B. 

C. 

D. 

Answer: B

Watch Video Solution

12a3b − 14ab2 + 10a2b2

6a2 − 7b + 7ab

12a2b − 7ab2 + 10ab

13. Square of 3x – 4y is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

9x2 − 16y2

6x2 − 8y2

9x2 + 16y2 + 24xy

9x2 + 16y2 − 24xy

https://dl.doubtnut.com/l/_05B84wVV994J
https://dl.doubtnut.com/l/_CIOam8uCENNU


14. Which of the following are like terms?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5xyz2, − 3xy3z

−5xyz2, 7xyz2

5xyz2, 5x2yz

5xyz3, x2y2z2

15. Coefficient of y in the term  is

A. 

B. 

C. 

−y

3

−1

−3

−1

3

https://dl.doubtnut.com/l/_CIOam8uCENNU
https://dl.doubtnut.com/l/_aYnGcnojTXVz
https://dl.doubtnut.com/l/_93W4N8Ka1Wxg


D. 

Answer: C

Watch Video Solution

1

3

16.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a2 − b2

(a − b)2

(a − b)(a − b)

(a + b)(a − b)

(a + b)(a + b)

https://dl.doubtnut.com/l/_93W4N8Ka1Wxg
https://dl.doubtnut.com/l/_Q6ALrRFl891Z


17. Common factor of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

17abc, 34ab2, 51a2b

17abc

17ab

17ac

17a2b2c

18. Square of  is

A. 

B. 

C. 

9x − 7xy

81x2 + 49x2y2

81x2 − 49x2y2

81x2 + 49x2y2 − 126x2y

https://dl.doubtnut.com/l/_orUGwaHTIhCh
https://dl.doubtnut.com/l/_428slXKKqDaf


D. 

Answer: C

Watch Video Solution

81x2 + 49x2y2 − 63x2y

19. Factorised form of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

23xy– 46x + 54y– 108

(23x + 54)(y − 2)

(23x + 54y)(y − 2)

(23xy + 54y)( − 46x − 108)

(23x + 54)(y + 2)

https://dl.doubtnut.com/l/_428slXKKqDaf
https://dl.doubtnut.com/l/_ARlrHLTLeX95


20. Factortsed form of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

r2 − 10r + 21

(r − 1)(r − 4)

(r − 7)(r − 3)

(r − 7)(r + 3)

(r + 7)(r + 3)

21. Factortsed form of  is

A. 

B. 

C. 

p2 − 17p − 38

(p − 19)(p + 2)

(p − 19)(p − 2)

(p + 19)(p + 2)

https://dl.doubtnut.com/l/_7zI0jc1gQjRL
https://dl.doubtnut.com/l/_zq9uIt9DNGJA


D. 

Answer: A

Watch Video Solution

(p + 19)(p − 2)

22. On dividing  by 114 pq. We get

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

57p2qr

pr
1

4

pr
3

4

pr
1

2

2pr

https://dl.doubtnut.com/l/_zq9uIt9DNGJA
https://dl.doubtnut.com/l/_TrAhvcskA4A0


23. On dividing  by  we get

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

p(4p2 − 16) 4p(p − 2),

2p + 4

2p − 4

p + 2

p − 2

24. The common factor of 2 ab and 2cd is

A. 1

B. 

C. a

−1

https://dl.doubtnut.com/l/_2UhbSTBrpEXr
https://dl.doubtnut.com/l/_UYYKpFdjhVXH


D. 2

Answer:

Watch Video Solution

25. An irreducible factor of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

24x2y2

x2

y2

x

24x

https://dl.doubtnut.com/l/_UYYKpFdjhVXH
https://dl.doubtnut.com/l/_8wB310MbJaYl


26. Number of factors of  is

A. 4

B. 3

C. 2

D. 1

Answer: C

Watch Video Solution

(a + b)2

27. The factorised form of  is

A. 

B. 

C. 

3x − 24

3x × 24

3(x − 8)

24(x − 3)

https://dl.doubtnut.com/l/_6JUTj3f22o0i
https://dl.doubtnut.com/l/_ZQXDozBLDjPl


D. 

Answer:

Watch Video Solution

3(x − 12)

28. The factor of  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 4

(x − 2), (x − 2)

(x + 2), (x − 2)

(x + 2), (x + 2)

(x − 4), (x − 4)

https://dl.doubtnut.com/l/_ZQXDozBLDjPl
https://dl.doubtnut.com/l/_QtXn7LkFVeB8


29. The value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − 27x2y) ÷ ( − 9xy)

3xy

−3xy

−3x

3x

30. The value of  is

A. 

B. 

C. 

(2x2 + 4) ÷ 2

2x2 + 2

x2 + 2

x2 + 4

https://dl.doubtnut.com/l/_lL86wVfVwijn
https://dl.doubtnut.com/l/_BEeARDHdafOW


D. 

Answer: B

Watch Video Solution

2x2 + 4

31. The value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(3x3 + 9x2 + 27x) ÷ 3x

x2 + 9 + 27x

3x3 + 3x2 + 27x

3x3 + 9x2 + 9

x2 + 3x + 9

https://dl.doubtnut.com/l/_BEeARDHdafOW
https://dl.doubtnut.com/l/_K7A9vdkePDuM


32. The value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(a + b)2 + (a − b)2

2a + 2b

2a − 2b

2a2 + 2b2

2a2 − 2b2

33. The value of  is

A. 

B. 

C. 

(a + b)2 − (a − b)2

4ab

−4ab

2a2 + 2b2

https://dl.doubtnut.com/l/_vxZbySXCKtQh
https://dl.doubtnut.com/l/_dRGpT6fmSSnX


D. 

Answer:

Watch Video Solution

2a2 − 2b2

34. fill in the blank to make the statement true:

The product of two terms with like signs is a............. term.

Watch Video Solution

35. The product of two terms with unlike signs is a term.

Watch Video Solution

36. 

Watch Video Solution

a(b + c) = a × ____ + a × _____.

https://dl.doubtnut.com/l/_dRGpT6fmSSnX
https://dl.doubtnut.com/l/_MxRZfzuYp5MH
https://dl.doubtnut.com/l/_RiaPCQ1OyLbg
https://dl.doubtnut.com/l/_jmWhnouWgKjp


37. 

Watch Video Solution

(a − b)_________ = a2 − 2ab + b2

38. 

Watch Video Solution

a2 − b2 = (a + b)____________.

39.  = 

Watch Video Solution

(a − b)2 + _________ (a2 − b2)

40. 

Watch Video Solution

(a + b)2 − 2ab = _________.

https://dl.doubtnut.com/l/_jmWhnouWgKjp
https://dl.doubtnut.com/l/_ILbgZzLQ8m5Z
https://dl.doubtnut.com/l/_cYvv18ovYlqJ
https://dl.doubtnut.com/l/_12SHex3r4Ec4
https://dl.doubtnut.com/l/_wz0Rl0QPFw0H


41. 

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + __________.

42. The product of two polynomials is a ________.

Watch Video Solution

43. Common factor of 

Watch Video Solution

ax2 + bxis_____________.

44. Factorised form of 18mn + 10mnp is ________.

Watch Video Solution

https://dl.doubtnut.com/l/_Ay1e7VovW4Ox
https://dl.doubtnut.com/l/_mcPALvgK6Qzr
https://dl.doubtnut.com/l/_8JKTYpw2tul0
https://dl.doubtnut.com/l/_V9frIvZTsyqp


45. Factorised form of  - 12y + 9 is 

Watch Video Solution

4y2 ____________.

46.  is equal to 

Watch Video Solution

38x2y2z ÷ 19xy2 ______________.

47. Volume of a rectangular box with length 2x, breadth 3y and

height 4z is _________.

Watch Video Solution

48. 

Watch Video Solution

672 − 372 = (67 − 37) × ________ = _________.

https://dl.doubtnut.com/l/_gUYQz9yQIgZj
https://dl.doubtnut.com/l/_otEjW6GPooiM
https://dl.doubtnut.com/l/_LTNhrYadqrWu
https://dl.doubtnut.com/l/_OFkoAC9eov8W
https://dl.doubtnut.com/l/_NlJ1Xh2LcIVV


49. 

Watch Video Solution

1032 − 1022 = ________ × (103 − 102) = _______________.

50. Area of a rectangular plot with sides 

Watch Video Solution

4x2 and 3y2is___________.

51. Volume of a rectangular box with l = b = h = 2x is _________.

Watch Video Solution

52. The coefficient in – 37abc is __________.

Watch Video Solution

https://dl.doubtnut.com/l/_NlJ1Xh2LcIVV
https://dl.doubtnut.com/l/_cBXUhdFQJ6rz
https://dl.doubtnut.com/l/_i8taZBHxy3PV
https://dl.doubtnut.com/l/_ur3ePXivU9Q0


53. Number of terms in the expression

Watch Video Solution

a2 + bx × dis______________.

54. The sum of areas of two squares with sides 4a and 4b is _______.

Watch Video Solution

55. The common factor method of factorisation for a polynomial is

based on ___________ property.

Watch Video Solution

56. The side of the square of area 

Watch Video Solution

9y2is___________.

https://dl.doubtnut.com/l/_ANuuYCE9KKwl
https://dl.doubtnut.com/l/_0rnDXItNy07C
https://dl.doubtnut.com/l/_T7TvuALckXi4
https://dl.doubtnut.com/l/_qnznPpT9f8Hl


57. On simplificaiton 

Watch Video Solution

= ______________.
3x + 3

3

58. The factorlsation of 

Watch Video Solution

2x + 4yis______________.

59. 

A. no

B. yes

C. cannot sure

D. none of the above

(a + b)2 = a2 + b2

https://dl.doubtnut.com/l/_qnznPpT9f8Hl
https://dl.doubtnut.com/l/_Vhrukqxrvc1A
https://dl.doubtnut.com/l/_f71TvRgGYMRD
https://dl.doubtnut.com/l/_Ky3t8QlojmzO


Answer: A

Watch Video Solution

60.  = ?

Watch Video Solution

(a − b)
2

a2 − b2

61. 

Watch Video Solution

(a + b)(a − b) = a2 − b2

62. State true/False 

The product of two negative terms is a negative term.

Watch Video Solution

https://dl.doubtnut.com/l/_Ky3t8QlojmzO
https://dl.doubtnut.com/l/_74muSTXsqWEe
https://dl.doubtnut.com/l/_fYsvUbMPxfkz
https://dl.doubtnut.com/l/_VuMBixR0Y5JH
https://dl.doubtnut.com/l/_0WXwS81mSzaw


63. Which of the following
 statement are true?
 The product of a

positive
 and negative integer is negative.
 The product of three

negative integers is a negative integer.
Of the two integers, if
 one is

negative, then their product must be positive.
 For all non-zero

integers 
 is always greater than either 
 The

product of a negative
and a positive integer may be zero.
There does

not exist an
integer 
such that for 

Watch Video Solution

a and b,  a × b a  or  b.

b a > 1,  a × b = b × a = b.

64. The coefficient of the term 

Watch Video Solution

−6x2y2is − 6.

65. State True or False: 

 is a binomial.

Watch Video Solution

p2q + q2r + r2q

https://dl.doubtnut.com/l/_0WXwS81mSzaw
https://dl.doubtnut.com/l/_1QayMbMNtz7N
https://dl.doubtnut.com/l/_015vCmnaQwX1


66. The factors of  are  True or

false.

Watch Video Solution

a2 − 2ab + b2 (a + b) and (a + b).

67. h is factor of  True or false.

Watch Video Solution

2π(h + r).

68. Some of the factors of  are  True or

false.

Watch Video Solution

+
n2

2

n

2
, n and (n + 1).

1

2

69. An equation is true for all values of its variables

https://dl.doubtnut.com/l/_015vCmnaQwX1
https://dl.doubtnut.com/l/_GJ94apoPopv9
https://dl.doubtnut.com/l/_TOzdNK8eN52Q
https://dl.doubtnut.com/l/_XLBzqQ81zyAH
https://dl.doubtnut.com/l/_2MfQlvPsdbbA


Watch Video Solution

70. 

Watch Video Solution

x2 − (a + b)x + ab

71. Common factor of 

Watch Video Solution

11pq2; 121p2q3 and 1331p2q

72. Common factor of 

Watch Video Solution

12a2b2 + 4ab2 − 32is.

73. Factorisation of  is

Watch Video Solution

−3a2 + 3ab + 3ac

https://dl.doubtnut.com/l/_2MfQlvPsdbbA
https://dl.doubtnut.com/l/_CyR5vzi5gAaC
https://dl.doubtnut.com/l/_V1HmgyXD4GLb
https://dl.doubtnut.com/l/_2euIIwyP7Xx3
https://dl.doubtnut.com/l/_MsQYk2kGRCNZ


74. Factorised form of  is

Watch Video Solution

p2 + 30p + 216

75. The difference of the squares of two consecutive numbers is their

sum.

Watch Video Solution

76.  is a monomial.

Watch Video Solution

abc + bca + cab

77. State True or False: 

On dividing  by  the quotient is 9.
p

2
,

3

p

https://dl.doubtnut.com/l/_MsQYk2kGRCNZ
https://dl.doubtnut.com/l/_8zyzd3btJzEI
https://dl.doubtnut.com/l/_1anltcN6uecX
https://dl.doubtnut.com/l/_Ct2p7m0Ejrck
https://dl.doubtnut.com/l/_GzzMI6JxRhyd


Watch Video Solution

78. The value of p for  is

Watch Video Solution

512 − 492 = 100p

79. 

Watch Video Solution

(9x − 51) ÷ 9is

80. The value of 

Watch Video Solution

(a + 1)(a − 1)is

81. Add : 

, , 7a2bc − abc2 3a2bc 2abc2

https://dl.doubtnut.com/l/_GzzMI6JxRhyd
https://dl.doubtnut.com/l/_MreDTE7wPSVg
https://dl.doubtnut.com/l/_mk63WipmiXH8
https://dl.doubtnut.com/l/_pjRUa8F5mAml
https://dl.doubtnut.com/l/_AKzcSmVcpUti


Watch Video Solution

82. Add : 

Watch Video Solution

9ax, + 3by − cz, − 5by + ax + 3cz

83. Add : 

Watch Video Solution

xy2z2 + 3x2y2z − 4x2yz2, − 9x2y2z + 3xy2z2 + x2yz2

84. Add : 

Watch Video Solution

5x2 − 3xy + 4y2 − 9, 7y2 + 5xy − 2x2 + 13

https://dl.doubtnut.com/l/_AKzcSmVcpUti
https://dl.doubtnut.com/l/_2HwZPCxFZ9Qq
https://dl.doubtnut.com/l/_tLWxpfcBcxHq
https://dl.doubtnut.com/l/_SQl8nTiAZXPR
https://dl.doubtnut.com/l/_47KcR3zTWdqM


85. Add : 

Watch Video Solution

2p4 − 3p3 + p2 − 5p + 7, − 3p4 − 7p3 − 3p2 − p − 12

86. Add : 

Watch Video Solution

4a(a − b + c), 2b(a − b + c)

87. Add : 

Watch Video Solution

3a(2b + 5c), 3c(2a + 2b)

https://dl.doubtnut.com/l/_47KcR3zTWdqM
https://dl.doubtnut.com/l/_yZdm1FTWtpBo
https://dl.doubtnut.com/l/_bx6Ekbg5YH3P


88. Subtract : 

 from 

Watch Video Solution

5a2b2c2 −7a2b2c2

89. Subtract : 

 from 

Watch Video Solution

6x2 − 4xy + 5y2 8y2 + 6xy − 3x2

90. Subtract : 

 from 

Watch Video Solution

2ab2c2 + 4a2b2c − 5a2b2 −10a2b2c2 + 4ab2c2 + 2a2bc2

https://dl.doubtnut.com/l/_tm4EWvVKQ84M
https://dl.doubtnut.com/l/_fkBhNBYhR1F3
https://dl.doubtnut.com/l/_cyzjrSuULnAv


91. Subtract : 

 from 

Watch Video Solution

3t4 − 4t3 + 2t2 − 6t + 6 −4t4 + 8t3 − 4t2 − 2t + 11

92. Subtract : 

 from 

Watch Video Solution

2ab + 5bc − 7ac 5ab − 2bc − 2ac + 10abc

93. Subtract : 

 from 

Watch Video Solution

7p(31 + 7p) 8p(2p − 71)

https://dl.doubtnut.com/l/_Nk41catCZEKd
https://dl.doubtnut.com/l/_R3lN5UrdWRHI
https://dl.doubtnut.com/l/_1N5M7dvEuD71


94. Subtract : 

 from 

Watch Video Solution

−3p2 + 3pq + 3px 3p( − p − a − r)

95. Multiply the 

Watch Video Solution

−7pq2r3, 12p2q2r

96. Multiply the 

Watch Video Solution

3x2y2z2, 17xyz

https://dl.doubtnut.com/l/_2tWJYp09kc7v
https://dl.doubtnut.com/l/_FB2K4sAStVNo
https://dl.doubtnut.com/l/_wu0ZttZBdoTw


97. Multiply the 

, 

Watch Video Solution

15xy2 17yz2

98. Multiply the 

, , 

Watch Video Solution

−5a2bc 11ab 13abc2

99. Multiply the 

, 

Watch Video Solution

−3x2y (5y − xy)

https://dl.doubtnut.com/l/_jxvCmsiJmZE7
https://dl.doubtnut.com/l/_9p8KnT4Bs7JE
https://dl.doubtnut.com/l/_qI7vw5E9vOIq


100. Multiply the 

, 

Watch Video Solution

abc (bc + ca)

101. Multiply the 

, 

Watch Video Solution

7pqr (p − q + r)

102. Multiply the 

 , 

Watch Video Solution

x2y2z2 (xy − yz + zx)

https://dl.doubtnut.com/l/_KdK8f9fzWeQw
https://dl.doubtnut.com/l/_30AS0gaIiYcU
https://dl.doubtnut.com/l/_mZV7eWvvbTgN


103. Multiply the 

 , 

Watch Video Solution

(p + 6) (q − 7)

104. Multiply the 

, 

Watch Video Solution

6mn 0mn

105. Multiply the 

Watch Video Solution

a − a5, a6

https://dl.doubtnut.com/l/_XiOtgCEVBQCZ
https://dl.doubtnut.com/l/_CCJRwUeNLATo
https://dl.doubtnut.com/l/_s9QLRfvsemHS


106. Multiply the 

Watch Video Solution

−7st, − 1 − 13st2

107. Multiply the 

Watch Video Solution

b3, 3b2, 7ab5

108. Multiply the 

Watch Video Solution

− rs, r3s2
100

9

3

4

https://dl.doubtnut.com/l/_fWPgJ2GeKFHn
https://dl.doubtnut.com/l/_jvBRTvBLfRXc
https://dl.doubtnut.com/l/_cKPsMsfcIhac


109. Multiply the 

Watch Video Solution

(a2 − b2). (a2 + b2)

110. Multiply the 

Watch Video Solution

(ab + c), (ab + c)

111. Multiply the 

Watch Video Solution

(pq − 2r), (pq − 2r)

https://dl.doubtnut.com/l/_kW9rb3c8uvYW
https://dl.doubtnut.com/l/_zzOoS4Rw0DDO
https://dl.doubtnut.com/l/_7SHELpv2ToJz


112. Multiply the following 

Watch Video Solution

( x − y), ( x + y)
3

4

4

3

2

3

3

2

113. Multiply the 

Watch Video Solution

p2 + q2, (2p2 − 3q2)
3

2

2

3

114. Multiply the 

Watch Video Solution

(x2 − 5x + 6), (2x + 7)

https://dl.doubtnut.com/l/_o6fB25LxSJui
https://dl.doubtnut.com/l/_i3t80bjCTIpe
https://dl.doubtnut.com/l/_zy0ebx7SB0FV


115. Multiply the 

Watch Video Solution

(3x2 + 4x − 8). (2x2 − 4x + 3)

116. Multiply the 

Watch Video Solution

(2x − 2y − 4), (x + y + 5)

117. Simplify 

Watch Video Solution

(3x + 2y)2 + (3x − 2y)2

https://dl.doubtnut.com/l/_U64uocodrhyA
https://dl.doubtnut.com/l/_NEL3wmeE4NM6
https://dl.doubtnut.com/l/_RXPe0quP3CXp


118. Simplify 

Watch Video Solution

(3x + 2y)2 − (3x − 2y)2

119. Simplify 

Watch Video Solution

( a − b)
2

− ab
7

9

4

3

120. Simplify 

Watch Video Solution

( x − y)
2

+ 2xy
3

4

4

3

https://dl.doubtnut.com/l/_5fJZD0RoXgR5
https://dl.doubtnut.com/l/_pQLSZ3c6poKC
https://dl.doubtnut.com/l/_Mb2QQAhEJIoA


121. Simplify 

Watch Video Solution

(1. 5p + 1.2q)2 − (1. 5p − 1.2q)2

122. Simplify 

Watch Video Solution

(2. 5m + 1. 5q)2 + (2. 5m − 1. 5q)2

123. Simplify 

Watch Video Solution

(x2 − 4) + (x2 + 4) + 16

https://dl.doubtnut.com/l/_LPHbBnYKMhaX
https://dl.doubtnut.com/l/_eP5kZUrbw6Sr
https://dl.doubtnut.com/l/_q28OmJ36G7TM


124. Simplify 

Watch Video Solution

(ab − c)2 + 2abc

125. Simplify 

Watch Video Solution

(a − b)(a2 + b2 + ab) − (a + b)(a2 + b2 − ab)

126. Simplify 

Watch Video Solution

(b2 − 49)(b + 7) + 343

https://dl.doubtnut.com/l/_xS2PADiIWITL
https://dl.doubtnut.com/l/_FfJ1dWmG9Giy
https://dl.doubtnut.com/l/_B8Knw4EzPS07


127. Simplify 

Watch Video Solution

(4.5a + 1.5b)2 + (4. 5b + 1. 5a)2

128. Simplify 

Watch Video Solution

(pq − qr)2 + 4pq2r

129. Simplify 

Watch Video Solution

(s2t + tq2)
2
− (2stq)2

https://dl.doubtnut.com/l/_D9CR2ESLxTIq
https://dl.doubtnut.com/l/_xA2zvwJ3NJf5
https://dl.doubtnut.com/l/_5kpePLXJEwPm


130. Expand the using suitable identity. 

Watch Video Solution

(xy + yz)2

131. Expand the using suitable identity. 

Watch Video Solution

(x2y − xy2)
2

132. Expand the using suitable identity. 

Watch Video Solution

( a + b)
2

4

5

5

4

https://dl.doubtnut.com/l/_E438d8g3ugWT
https://dl.doubtnut.com/l/_59SD2ewACYqi
https://dl.doubtnut.com/l/_Oz7ix40V4PhP


133. Expand using suitable identity: 

Watch Video Solution

( x − y)
2

2

3

3

2

134. Expand using suitable identity: 

Watch Video Solution

( p + q)
2

4

5

5

3

135. Expand using suitable identity: 

Watch Video Solution

(x + 3)(x + 7)

https://dl.doubtnut.com/l/_Uk83s9cnu0eQ
https://dl.doubtnut.com/l/_TxGjiiYGFWI4
https://dl.doubtnut.com/l/_AxP7uArEHHN0


136. Expand using suitable identity: 

Watch Video Solution

(2x + 9)(2x − 7)

137. Find the product of the following binomials; 

(ii) 

Watch Video Solution

(a2 + bc)(a2 − bc)

( − )( + )
4x

5

3y

4

4x

5

3y

4

138. Expand the using suitable identity. 

Watch Video Solution

( − )( + )
2x

3

2a

3

2x

3

2a

3

https://dl.doubtnut.com/l/_br9OOjQRaoqh
https://dl.doubtnut.com/l/_bQh7rCV1gaHc
https://dl.doubtnut.com/l/_hthOJUeg76ax


139. Expand the using suitable identitie. 

Watch Video Solution

(2x + 5y)(2x − 5y)

140. Expand the using suitable identitie. 

Watch Video Solution

( + )( − )
2a

3

b

3

2a

3

b

3

141. Expand the using suitable identitie. 

Watch Video Solution

(x2 + y2)(x2 − y2)

https://dl.doubtnut.com/l/_xmarIUaguzYu
https://dl.doubtnut.com/l/_d6daTic0AGsU
https://dl.doubtnut.com/l/_NWTqQbuXeOou


142. Expand the using suitable identitie. 

Watch Video Solution

(a2 + b2)
2

143. Expand the using suitable identity. 

Watch Video Solution

(7x + 5)2

144. Expand the using suitable identity. 

Watch Video Solution

(0.9p − 0.5q)2

https://dl.doubtnut.com/l/_TyWuujdq6ple
https://dl.doubtnut.com/l/_NOg2ISFXsm7l
https://dl.doubtnut.com/l/_oAN1Hui898jp


145. Expand the using suitable identity

Watch Video Solution

x2y2 = (xy)2

146. Using suitable identity evaluate the 

Watch Video Solution

(52)2

147. Using suitable identity evaluate the 

Watch Video Solution

(49)2

https://dl.doubtnut.com/l/_FT6n0wbg5r0I
https://dl.doubtnut.com/l/_Q6dWAvLbom9K
https://dl.doubtnut.com/l/_TuZesNWY301q


148. Using suitable identity evaluate the 

Watch Video Solution

(103)2

149. Using suitable identity evaluate the 

Watch Video Solution

(98)2

150. Using suitable identie evaluate the 

Watch Video Solution

(1005)2

https://dl.doubtnut.com/l/_D18Se79rPS7V
https://dl.doubtnut.com/l/_WQorFhwgDU3X
https://dl.doubtnut.com/l/_HQdbNSJPOJDU


151. Using suitable identie evaluate the 

Watch Video Solution

(995)2

152. Using suitable identity evaluate the 

A. 2490

B. 2491

C. 2492

D. 2493

Answer: B

Watch Video Solution

47 × 53

https://dl.doubtnut.com/l/_ABm3LQCFCKet
https://dl.doubtnut.com/l/_PIeTC7JYrsWU
https://dl.doubtnut.com/l/_e2wHA43YqFgI


153. Using suitable identity evaluate the following 

Watch Video Solution

52 × 53

154. Using suitable identity evaluate the 

Watch Video Solution

105 × 95

155. Using suitable identie evaluate the 

Watch Video Solution

103 × 97

156. Using suitable identity, evaluate the 

101 × 103

https://dl.doubtnut.com/l/_e2wHA43YqFgI
https://dl.doubtnut.com/l/_PO74y6HHpm8T
https://dl.doubtnut.com/l/_pnZhDCVGzYFX
https://dl.doubtnut.com/l/_ukb8vWCNPKsb


Watch Video Solution

157. Using suitable identity evaluate the 

Watch Video Solution

98 × 103

158. Using suitable identity evaluate the 

Watch Video Solution

(9.9)2

159. Using suitable identity evaluate the 

Watch Video Solution

9.8 × 10.2

https://dl.doubtnut.com/l/_ukb8vWCNPKsb
https://dl.doubtnut.com/l/_pRXW9JcF2ob5
https://dl.doubtnut.com/l/_fxSKp18E4orp
https://dl.doubtnut.com/l/_4STCbirxLlth
https://dl.doubtnut.com/l/_gGj8vloKcP6q


160. Using suitable identity evaluate the 

Watch Video Solution

10.1 × 10.2

161. Using suitable identity evaluate the 

Watch Video Solution

(35.4)2 − (14.6)2

162. Using suitable identity evaluate the 

Watch Video Solution

(69.3)2 − (30.7)2

https://dl.doubtnut.com/l/_gGj8vloKcP6q
https://dl.doubtnut.com/l/_VGGFKScpRDgP
https://dl.doubtnut.com/l/_7PbEo7Yja1OR


163. Using suitable identity evaluate the 

Watch Video Solution

(9.7)2 − (0.3)2

164. Using suitable identity evaluate the 

Watch Video Solution

(132)2 − (68)2

165. Using suitable identity evaluate the 

Watch Video Solution

(339)2 − (161)2

https://dl.doubtnut.com/l/_IJeM8kjceOkk
https://dl.doubtnut.com/l/_d2AvCsLzkxq3
https://dl.doubtnut.com/l/_9kWj6kXRsgWY


166. Using suitable identity evaluate the 

A. 456000

B. 468000

C. 485000

D. 458000

Answer: D

Watch Video Solution

(729)2 − (271)2

167. Write the greatest common factor in each of the term. 

Watch Video Solution

−18a2, 108a

https://dl.doubtnut.com/l/_4kmMLaBownJJ
https://dl.doubtnut.com/l/_jO13PM1VLnyj
https://dl.doubtnut.com/l/_KQNMrXtuowrA


168. Write the greatest common factor in each of the term. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x2y, 18xy, − 6xy

3x2y

−3xy

3xy

6xy

169. Write the greatest common factor in each of the term. 

Watch Video Solution

2xy, y2, 2x2y

https://dl.doubtnut.com/l/_KQNMrXtuowrA
https://dl.doubtnut.com/l/_Vr0Jr3mYsVr2


170. Write the greatest common factor in each of the term. 

Watch Video Solution

l2m2n, lm2n2, l2mn2

171. Write the greatest common factor in each of the term. 

Watch Video Solution

21pqr, − 7p2q2r2, 49pqr

172. Write the greatest common factor in each of the term. 

Watch Video Solution

qrxy, pryz, rxyz

https://dl.doubtnut.com/l/_B3JsQaIPfBiY
https://dl.doubtnut.com/l/_50i3x7OtGXSg
https://dl.doubtnut.com/l/_qF1qnZLEx1Wr


173. Write the greatest common factor in each of the term. 

Watch Video Solution

3x2y3z, − 6xy3z2, 12x2yz3

174. Write the greatest common factor in each of the term. 

Watch Video Solution

63p2a2r2s, − 9pq2r2s2, − 60p2a2rs2

175. Write the greatest common factor in each of the term. 

Watch Video Solution

13x2y, 169xy

https://dl.doubtnut.com/l/_APiTudHA8GyW
https://dl.doubtnut.com/l/_LAnOpdWZqLxg
https://dl.doubtnut.com/l/_5A0noku4Ax1A


176. Write the greatest common factor in each of the term. 

Watch Video Solution

11x2, 12y2

177. Factoris the expression. 

Watch Video Solution

6ab + 12bc

178. Factoris the expression. 

Watch Video Solution

−xy − ay

https://dl.doubtnut.com/l/_1PWrYCCEucQj
https://dl.doubtnut.com/l/_wlyVJkNQ7YDj
https://dl.doubtnut.com/l/_kj03abrwelnW


179. Factoris the expression. 

Watch Video Solution

ax3 − bx2 + cx

180. Factoris the expression. 

Watch Video Solution

l2m2n − lm2n2 − l2mn2

181. Factoris the expression. 

Watch Video Solution

3pqr − 6p2q2r2 − 15r2

https://dl.doubtnut.com/l/_17zrC2vVLI52
https://dl.doubtnut.com/l/_21xjYGsxOuXA
https://dl.doubtnut.com/l/_7pWM29buTvls


182. Factoris the expression. 

Watch Video Solution

x2y2 + x2y3 − xy4 + xy

183. Factoris the expression. 

Watch Video Solution

4ab2 − 3a2b + 5ab2 − ab

184. Factoris the expression. 

Watch Video Solution

2a3 − 3a2b + 5ab2 − ab

https://dl.doubtnut.com/l/_b8Jy8Rl0XRVr
https://dl.doubtnut.com/l/_TQmlzyWWRlz5
https://dl.doubtnut.com/l/_1ND6uuH6lb1R


185. Factoris the expression. 

Watch Video Solution

63p2q2r2s − 9pq2r2s2 + 15p2qr2s2 − 60p2q2rs2

186. Factoris the expression. 

Watch Video Solution

24x2yz3 − 6xy3z2 + 15x2y2z − 5xyz

187. Factoris the expression. 

Watch Video Solution

a3 + a2 + a + 1

https://dl.doubtnut.com/l/_zBo1GoyKcqxz
https://dl.doubtnut.com/l/_VMm7GlUgpzAu
https://dl.doubtnut.com/l/_kqrS52sZ5Z2v


188. Factoris the expression. 

Watch Video Solution

lx + my + mx + ly

189. Factoris the expression. 

Watch Video Solution

a3x − x4 + a2x2 − ax3

190. Factoris the expression. 

Watch Video Solution

2x2 − 2y + 4xy − x

https://dl.doubtnut.com/l/_BEALy37eSBuE
https://dl.doubtnut.com/l/_xMRvzHCjFzxu
https://dl.doubtnut.com/l/_J03CbHXoMMir


191. Factoris the expression. 

Watch Video Solution

y2 + 8zx − 2xy − 4yz

192. Factorise the expression. 

Watch Video Solution

ax2y − bxyz − ax2z + bxy2

193. Factorise the expression. 

Watch Video Solution

a2b + a2c + ab + ac + b2c + c2b

https://dl.doubtnut.com/l/_y0ernEnjWGPx
https://dl.doubtnut.com/l/_LNWgq6UoLKlK
https://dl.doubtnut.com/l/_ZDd1E3VNl7xL


194. Factoris the expression. 

Watch Video Solution

2ax2 + 4axy + 3bx2 + 2ay2 + 6bxy + 3by2

195. Factorise the expression using the identity

 


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

x2 + 6x + 9

196. Factorise the expression using the identity

 


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

x2 + 12x + 36

https://dl.doubtnut.com/l/_pfO1lxmoRwBy
https://dl.doubtnut.com/l/_7hX4DfjQ8zrJ
https://dl.doubtnut.com/l/_m5wDIn1LyTmT
https://dl.doubtnut.com/l/_f6bjoNGSgYDS


197. Factorise the expression using the identity

 


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

x2 + 14x + 49

198. Factorise the expression using the identity

 


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

x2 + 2x + 1

199. Factorise the using the identity  


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

4x2 + 4x + 1

https://dl.doubtnut.com/l/_f6bjoNGSgYDS
https://dl.doubtnut.com/l/_CiKiomA2jcc2
https://dl.doubtnut.com/l/_RlciGUhJSTYq


200. Factorise the using the identity  


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

a2x2 + 2ax + 1

201. Factorise the using the identity  


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

a2x2 + 6ax + 9

202. Factorise the using the identity  


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

a2x2 + 2abxy + b2y2

https://dl.doubtnut.com/l/_bBLp4chhOL4n
https://dl.doubtnut.com/l/_GhN2TvEhCbIL
https://dl.doubtnut.com/l/_yEDROJ4DD5vC


203. Factorise the using the identity  


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

4x2 + 12x + 9

204. Factorise the using the identity  


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

16x2 + 40x + 25

205. Factorise the using the identity  


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

9x2 + 24x + 16

https://dl.doubtnut.com/l/_ntRYc61J34em
https://dl.doubtnut.com/l/_DzubDcmuoYw0
https://dl.doubtnut.com/l/_uputnrEZeFv9


206. Factorise the using the identity  


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

9x2 + 30x + 25

207. Factorise the using the identity  


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

2x3 + 24x2 + 72x

208. Factorise the using the identity  


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

a2x3 + 23abx2 + b2x

https://dl.doubtnut.com/l/_zjZrsUFD4jEf
https://dl.doubtnut.com/l/_39RCtpEn0TyC
https://dl.doubtnut.com/l/_QYbx8oQrWohP


209. Factorise the using the identity  


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

4x4 + 12x3 + 9x2

210. Factorise the using the identity  


Watch Video Solution

a2 + 2ab + b2 = (a + b)2

+ 2x + 4
x2

4

211. Factorise the using the identity  


Watch Video Solution

a2 + 2ab + b2 = (a + b)
2

9x2 + 2xy +
y2

9

https://dl.doubtnut.com/l/_sItlGb01HRFi
https://dl.doubtnut.com/l/_WLvIvjSxWzf4
https://dl.doubtnut.com/l/_fT7i4PJtTE2g


212. Factorise the using the identity  

Watch Video Solution

a2 − 2ab + b2 = (a − b)2.

x2 − 8x + 16

213. Factorise the using the identity  

Watch Video Solution

a2 − 2ab + b2 = (a − b)2.

x2 − 10x + 25

214. Factorise the using the identity  

Watch Video Solution

a2 − 2ab + b2 = (a − b)2.

y2 − 14y + 49

https://dl.doubtnut.com/l/_UONX8SdcrzvO
https://dl.doubtnut.com/l/_bcZiCVb2FlAX
https://dl.doubtnut.com/l/_x0QsYTP3mXnq


215. Factorise the using the identity  

Watch Video Solution

a2 − 2ab + b2 = (a − b)2.

p2 − 2p + 1

216. Factorise the using the identity  

Watch Video Solution

a2 − 2ab + b2 = (a − b)2.

4a2 − 4ab + b2

217. Factorise the using the identity  

Watch Video Solution

a2 − 2ab + b2 = (a − b)2.

p2y2 − 2py + 1

https://dl.doubtnut.com/l/_ys8Cg7h2M81H
https://dl.doubtnut.com/l/_A7CHFSpsaK13
https://dl.doubtnut.com/l/_Zp2iOYscWUC7


218. Factorise the using the identity  

Watch Video Solution

a2 − 2ab + b2 = (a − b)2.

a2y2 − 2aby + b2

219. Factorise the using the identity  

Watch Video Solution

a2 − 2ab + b2 = (a − b)2.

9x2 − 12x + 4

220. Factorise the using the identity  

Watch Video Solution

a2 − 2ab + b2 = (a − b)2.

4y2 − 12y + 9

https://dl.doubtnut.com/l/_Fj198Xz5Xh8q
https://dl.doubtnut.com/l/_wkbSwsbYbfOA
https://dl.doubtnut.com/l/_7tolHMeYhszL


221. Factorise the using the identity  

Watch Video Solution

a2 − 2ab + b2 = (a − b)2.

− 2x + 4
x2

4

222. Factorise the using the identity  

Watch Video Solution

a2 − 2ab + b2 = (a − b)
2
.

a2y3 − 2aby2 + b2y

223. Factorise the using the identity  

Watch Video Solution

a2 − 2ab + b2 = (a − b)
2
.

9y2 − 4xy +
4x2

9

https://dl.doubtnut.com/l/_r6JOVb6StreE
https://dl.doubtnut.com/l/_KJZFILuJvxUE
https://dl.doubtnut.com/l/_V3wkFLYbqxH2


224. Factorise the 

Watch Video Solution

x2 + 15x + 26

225. Factorise the 

Watch Video Solution

x2 + 9x + 20

226. Factorise the 

Watch Video Solution

x2 + 18x + 65

https://dl.doubtnut.com/l/_4IYAgmybrtaZ
https://dl.doubtnut.com/l/_3uV8PWW0rtGW
https://dl.doubtnut.com/l/_WdLcBCLKwi1W


227. Factorise the 

Watch Video Solution

p2 + 14p + 13

228. Factorise the 

Watch Video Solution

y2 + 4y − 21

229. Factorise the 

Watch Video Solution

y2 − 2y − 15

https://dl.doubtnut.com/l/_uTSwl1Q3Mf9s
https://dl.doubtnut.com/l/_uLZdT4IE5kUr
https://dl.doubtnut.com/l/_FgfyamGxxBL1


230. Factorise the 

Watch Video Solution

18 + 11x + x2

231. Factorise the 

Watch Video Solution

x2 − 10x + 21

232. Factorise the 

Watch Video Solution

x2 + 17x + 60

https://dl.doubtnut.com/l/_kv8wXDQbMiNu
https://dl.doubtnut.com/l/_sHlZkYw1Eqf9
https://dl.doubtnut.com/l/_crzeSAWFU4zL


233. Factorise the 

Watch Video Solution

x2 + 4x − 77

234. Factorise the 

Watch Video Solution

y2 + 7y + 12

235. Factorise the 

Watch Video Solution

p2 − 13p − 30

https://dl.doubtnut.com/l/_0tKUEbDhId28
https://dl.doubtnut.com/l/_gsS44Bj1fEM5
https://dl.doubtnut.com/l/_zu6kz59zGGGf


236. Factorise the 

Watch Video Solution

p2 − 16p − 80

237. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

x2 − 9

238. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

4x2 − 25y2

https://dl.doubtnut.com/l/_jtT28lQUNIJd
https://dl.doubtnut.com/l/_qcaUxqWpPjMQ
https://dl.doubtnut.com/l/_WW8qh4l8oF1r


239. Factorise the using the identity  


Watch Video Solution

a2 − b2 = (a + b)(a − b).

4x2 − 49y2

240. Factorise the using the identity  


Watch Video Solution

a2 − b2 = (a + b)(a − b).

3a2b3 − 27a4b

241. Factorise the expression using the identity

 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

28ay2 − 175ax2

https://dl.doubtnut.com/l/_ADEobY142vQx
https://dl.doubtnut.com/l/_4w3uAQMx5iI1
https://dl.doubtnut.com/l/_Mu2WBr5wQuNX


242. Factorise the using the identity  


Watch Video Solution

a2 − b2 = (a + b)(a − b).

9x2 − 1

243. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

25ax2 − 25a

244. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

−
x2

9

y2

25

https://dl.doubtnut.com/l/_xv1vJ36lfeCx
https://dl.doubtnut.com/l/_qqbBwPe6unKw
https://dl.doubtnut.com/l/_EBTuwq17b5qB


245. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

− 32q2
2p2

25

246. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

49x2 − 36y2

247. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

y2 −
y2

9

https://dl.doubtnut.com/l/_0fdz2xFOm6fP
https://dl.doubtnut.com/l/_5cHkfVWkCppe
https://dl.doubtnut.com/l/_JmGnYwP8aDdx


248. Factorise the using the identity  


Watch Video Solution

a2 − b2 = (a + b)(a − b).

− 625
x2

25

249. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

−
x2

8

y2

18

250. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

−
4x2

9

9y2

16

https://dl.doubtnut.com/l/_642YBat3qmTx
https://dl.doubtnut.com/l/_3TXp4FSlOWcX
https://dl.doubtnut.com/l/_bTRVFttEzJ1n


251. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

−
x3y

9

xy3

16

252. Factorise the expression using the identity :




Watch Video Solution

a2 − b2 = (a + b)(a − b).

1331x2y − 11y3x

253. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

a2b2 − b2c2
1

36

16

49

https://dl.doubtnut.com/l/_E9m5gQ2LuyxX
https://dl.doubtnut.com/l/_e0lRyKVFGlPI
https://dl.doubtnut.com/l/_kJTTTkYGhHdC


254. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

a4 − (a − b)4

255. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

x4 − 1

256. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

y4 − 625

https://dl.doubtnut.com/l/_2Jxl55XyqJeW
https://dl.doubtnut.com/l/_zid36AyffPWK
https://dl.doubtnut.com/l/_n594UoCMruiI


257. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

p5 − 16p

258. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

16x4 − 81

259. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

x4 − y4

https://dl.doubtnut.com/l/_HoSQ9fJfYpsS
https://dl.doubtnut.com/l/_KgcWslyHfkAM
https://dl.doubtnut.com/l/_Z1OdUnnQ3ynE


260. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

y4 − 81

261. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

16x4 − 625y4

262. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

(a − b)2 − (b − c)2

https://dl.doubtnut.com/l/_LEtw1f7ADSlf
https://dl.doubtnut.com/l/_GFRXXKzwBQdo
https://dl.doubtnut.com/l/_hLTIzvAC1Qov


263. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

(x + y)4 − (x − y)4

264. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

x4 − y4 + x2 − y2

265. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

8a3 − 2a

https://dl.doubtnut.com/l/_8ekvRceiuVII
https://dl.doubtnut.com/l/_opHFuIUIoRBs
https://dl.doubtnut.com/l/_v4TaIISwhG0K


266. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

x2 −
y2

100

267. Factorise the using the identity 


Watch Video Solution

a2 − b2 = (a + b)(a − b).

9x2 − (3y + z)
2

268. The expresson are the areas of reactangle. Find the possible

lengths and breadths of these reactangle. 

Watch Video Solution

x2 − 6x + 8

https://dl.doubtnut.com/l/_3PAOFJvxfJHg
https://dl.doubtnut.com/l/_StnirpTrhc7o
https://dl.doubtnut.com/l/_hStB8uU33VuW


269. The expresson are the areas of reactangle. Find the possible

lengths and breadths of these reactangle. 

Watch Video Solution

x2 − 3x + 2

270. The expresson are the areas of reactangle. Find the possible

lengths and breadths of these reactangle. 

Watch Video Solution

x2 − 7x + 10

271. The expresson are the areas of reactangle. Find the possible

length and breadth of these reactangle. 

Watch Video Solution

x2 + 19x − 20

https://dl.doubtnut.com/l/_aCQ7zYh4IJn4
https://dl.doubtnut.com/l/_BvWzqL7gC2zE
https://dl.doubtnut.com/l/_eCQOiccZECEC


272. The expresson are the areas of reactangle. Find the possible

lengths and breadths of these reactangle. 

Watch Video Solution

x2 + 9x + 20

273. Carry out the division : 

Watch Video Solution

51x3y2z ÷ 17xyz

274. Carry out the division : 

Watch Video Solution

76x3yz3 ÷ 19x2y2

https://dl.doubtnut.com/l/_eCQOiccZECEC
https://dl.doubtnut.com/l/_YA3AyLyvyxmV
https://dl.doubtnut.com/l/_l1wnjQj8Iydw
https://dl.doubtnut.com/l/_m5STGuCelq1O


275. Carry out the division : 

Watch Video Solution

17ab2c3 ÷ ( − abc2)

276. Carry out the division : 

Watch Video Solution

−121p3q3r3 ÷ ( − 11xy2z3)

277. Perform the division: 

Watch Video Solution

(3pqr − 6p2q2r2) ÷ 3pq

https://dl.doubtnut.com/l/_7VpZCUpdM88n
https://dl.doubtnut.com/l/_G0qAMu9qrTsD
https://dl.doubtnut.com/l/_rGdc464rVN8M


278. Perform the division: 

Watch Video Solution

(ax3 − bx2 + cx) ÷ ( − dx)

279. Perform the division: 

Watch Video Solution

(x3y3 + x2y3 − xy4 + xy) ÷ xy

280. Perform the division: 

Watch Video Solution

( − qrxy + pryz − rxyz) ÷ ( − xyz)

https://dl.doubtnut.com/l/_oogbO0RhKkOw
https://dl.doubtnut.com/l/_5pjhAhrAsATG
https://dl.doubtnut.com/l/_z43QKzkpcLDc


281. Factorise the expressions and divide them as directed : 

Watch Video Solution

(x2 − 22x + 117) ÷ (x − 13)

282. Factorise the expressions and divide them as directed : 

Watch Video Solution

(x3 + x2 − 132x) ÷ x(x − 11)

283. Factorise the expression and divide them as directed : 

Watch Video Solution

(2x3 − 12x2 + 16x) ÷ (x − 2)(x − 4)

https://dl.doubtnut.com/l/_jNv2bDh33AGY
https://dl.doubtnut.com/l/_CcZKin70FeTs
https://dl.doubtnut.com/l/_KAJZr9Lzi5qp


284. Factorise the expressions and divide them as directed : 

Watch Video Solution

(9x2 − 4) ÷ (3x + 2)

285. Factorise the expressions and divide them as directed : 

Watch Video Solution

(3x2 − 48) ÷ (x − 4)

286. Factorise the expressions and divide them as directed : 

Watch Video Solution

(x4 − 16) ÷ x3 + 2x2 + 4x + 8

https://dl.doubtnut.com/l/_JyYBMKQliNAK
https://dl.doubtnut.com/l/_r0WD9mpyKuhj
https://dl.doubtnut.com/l/_eUyJuIw1n2j1


287. Factorise the expressions and divide them as directed : 

Watch Video Solution

(3x4 − 1875) ÷ (3x2 − 75)

288. The area of a square is given by  Find the

side of the square.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x2 + 12xy + 9y2.

2x + 3y

2x − 3y

3x + 2y

2y − 3x

https://dl.doubtnut.com/l/_RoFlIHkgqcFH
https://dl.doubtnut.com/l/_IM6ymNhUxF2z
https://dl.doubtnut.com/l/_uazF0kOfcN3y


289. The area of a square is . Find the side of the

square.

Watch Video Solution

9x2 + 24xy + 16y2

290. The area of a rectangle is  If its breadth is 

 then find its length.

Watch Video Solution

x2 + 7x + 12.

(x + 3).

291. The curved surface area of a cylinder is  and

its radius is (y – 3). Find the height of the cylinder (C.S.A. of cylinder =

).

Watch Video Solution

2π(y2 − 7y + 12)

2πrh

https://dl.doubtnut.com/l/_uazF0kOfcN3y
https://dl.doubtnut.com/l/_7Gm9MODL1NXX
https://dl.doubtnut.com/l/_s04gaTksycKV


292. The area of a circle is given by the expression 

Find the radius of the circle.

Watch Video Solution

πx2 + 6πx + 9π.

293. The sum of first n natural numbers is given by the expression

 Factorise this expression.

Watch Video Solution

+ .
n2

2

n

2

294. The sum of  observations is  Find the mean of

the observations.

Watch Video Solution

(x + 5) x4 − 625.

https://dl.doubtnut.com/l/_wC1xm2ABblbX
https://dl.doubtnut.com/l/_ig6gVhn95YEA
https://dl.doubtnut.com/l/_765xoQ0awriH


295. The height of a triangle is  and its base is 14xy. Find the

area of the triangle.

Watch Video Solution

x4 + y4

296. The cost of a chocolate is Rs  and Rohit bought 

chocolates. Find the total amount paid by him in terms of  and . If 

, find the amount paid by him.

Watch Video Solution

(x + y) (x + y)

x y

x = 10, y = 5

297. The base of a parallelogram is  units and the

corresponding height is  units. Find the area of the

parallelogram in terms of . What will be the area of parallelogram

of  units?

Watch Video Solution

(2x + 3)

(2x– 3)

x

x = 30

https://dl.doubtnut.com/l/_mXZPhZK39vHi
https://dl.doubtnut.com/l/_BNwM5QOS2lgt
https://dl.doubtnut.com/l/_dxZP3cNEr0JR


298. The radius of a circle is . Find the circumference

of the circle.

Watch Video Solution

7ab– 7bc– 14ac

(π = )
22

7

299. If  then find 

Watch Video Solution

p + q = 12 and pq = 22, p2 + q2.

300. If  and  then find 

Watch Video Solution

a + b = 25 a2 + b2 = 225 ab

301. If  then find 

Watch Video Solution

x − y = 13 and xy = 28, x2 + y2.

https://dl.doubtnut.com/l/_dxZP3cNEr0JR
https://dl.doubtnut.com/l/_X23bVBNzxPjZ
https://dl.doubtnut.com/l/_vxlqm3rK5ll4
https://dl.doubtnut.com/l/_Q6aPfIe1KhYh
https://dl.doubtnut.com/l/_NWZHDc7Hppeg


302. If  then find mn.

Watch Video Solution

m − n = 16 and m2 + n2 = 400,

303. If  then find a + b.

A. 11

B. 12

C. 13

D. 14

Answer: B

Watch Video Solution

a2 + b2 = 74 and ab = 35,

https://dl.doubtnut.com/l/_NWZHDc7Hppeg
https://dl.doubtnut.com/l/_L4Y1CCQdsyrt
https://dl.doubtnut.com/l/_xN95cT4XAfLE


304. Verify that 

Watch Video Solution

(ab + bc)(ab − bc) + (bc + ca)(bc − ca) + (ca + ab)(ca − ab) = 0

305. Verify that 

Watch Video Solution

(a + b + c)(a2 + b2 + c2 − ab − bc − ca) = a3 + b3 + c3 − 3abc

306. Verify that 

Watch Video Solution

(p − q)(p2 + pq + q2) = p3 − q3

https://dl.doubtnut.com/l/_sRh4oWB2wghe
https://dl.doubtnut.com/l/_QXHrcovsPWTJ
https://dl.doubtnut.com/l/_c5Ojay2lfTa0


307. Verify that 

Watch Video Solution

(m + n)(m2 − mn + n2) = m3 + n3

308. Verify the 

Watch Video Solution

(a + b)(a + b)(a + b) = a3 + 3a2b + 3a2b + 3ab2 + b3

309. Verify that 

Watch Video Solution

(a − b)(a − b)(a − b) = a3 − 3a2b + 3ab2 − b3

https://dl.doubtnut.com/l/_lFruc2jOpMV4
https://dl.doubtnut.com/l/_VHOIA2cxhu0k
https://dl.doubtnut.com/l/_2mwkSByKwoVy


310. Verify that 

Watch Video Solution

(a2 − b2)(a2 + b2) + (b2 − c2)(b2 + c2) + (c2 − a2) + (c2 + a2) = 0

311. Verify that 

Watch Video Solution

(5x + 8)2 − 160x = (5x − 8)2

312. Verify the 

Watch Video Solution

(7p − 13q)2 + 364pq = (7p + 13q)2

https://dl.doubtnut.com/l/_oz1OxC1UJDlD
https://dl.doubtnut.com/l/_HNW5aBHrljyw
https://dl.doubtnut.com/l/_faeT4GwdfYJA


313. Verify that 

Watch Video Solution

( + )
2

− ( − )
2

= 2
3p

7

7

6p

3p

7

7

6p

314. Find the value of a, if 

Watch Video Solution

8a = 352 − 272

315. Find the value of a, if 

Watch Video Solution

9a = 762 − 672

https://dl.doubtnut.com/l/_5yeT1KW59Ycu
https://dl.doubtnut.com/l/_428qWX1RXJvq
https://dl.doubtnut.com/l/_xZxXxQdXONrS


316. Find the value of a, if 

Watch Video Solution

pqa = (3p + q)2 − (3p − q)2

317. Find the value of a, if 

Watch Video Solution

pq2a = (4pq + 3q)2 − (4pq − 3q)2

318. What should be added to  to obtain 

?

Watch Video Solution

4c(– a + b + c)

3a(a + b + c)– 2b(a– b + c)

https://dl.doubtnut.com/l/_LIDpaUa9ANiV
https://dl.doubtnut.com/l/_ET6YFYAQnGsm
https://dl.doubtnut.com/l/_Q2Yh4ljULeLf


319. Subtract  from  and find the value of

expression obtained for 

Watch Video Solution

b(b2 + b − 7) + 5 3b2 − 8

b = – 3.

320. If  then find value of 

A. 49

B. 50

C. 51

D. 52

Answer: C

Watch Video Solution

x − = 7
1

x
x2 + .

1

x2

https://dl.doubtnut.com/l/_NkQXeadBdzOB
https://dl.doubtnut.com/l/_CAxWU0wa4Mi4


321. Factorise 

Watch Video Solution

x2 + + 2 − 3x − .
1

x2

3

x

322. Factorise 

Watch Video Solution

p4 + q4 + p2q2.

323. Find the value of 

A. 6

B. 7

C. 8

D. 9

6.25 × 6.25 − 1. 75 × 1. 75

4.5

https://dl.doubtnut.com/l/_tt9SdmO8mw8i
https://dl.doubtnut.com/l/_7qMKulSjGnTt
https://dl.doubtnut.com/l/_ZXnQloI4lxmI


Answer: C

Watch Video Solution

324. Simplify the following using the identities:


 (ii) 

Watch Video Solution

198 x 198 − 102 x 102

96
1. 73 x 1. 73 − 0. 27 x 0. 27

8. 63 x 8. 63 − 1. 37 x 1. 37

0. 726

325. The product of two expressions is  If one of them

is  find the other.

Watch Video Solution

x5 + x3 + x.

x2 + x + 1.

326. Find the length of the side of the given square if area of the

square is 625 square units and then find the value of x. 

https://dl.doubtnut.com/l/_ZXnQloI4lxmI
https://dl.doubtnut.com/l/_Re2sduAmMWJq
https://dl.doubtnut.com/l/_5pkJ9b9ymRw6
https://dl.doubtnut.com/l/_nAoeAOuQFZk5


Watch Video Solution

327. The figure shows the dimensions of a wall having a window and

a door of a room. Write an algebraic expression for the area of the

https://dl.doubtnut.com/l/_nAoeAOuQFZk5
https://dl.doubtnut.com/l/_zQTJt2dpRm8t


wall to be painted. 

Watch Video Solution

328. Match the expressions of column I with that of column II: 

Watch Video Solution

https://dl.doubtnut.com/l/_zQTJt2dpRm8t
https://dl.doubtnut.com/l/_aoVA36Suqg8l

